DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

DIVISION WITH 5 Name:
Time: Score: A

5) —33.9 =5 = 16) —3823.5 =5 =
320 —3130 =5 = i —=2155 +5 =
3 —1560.5 =5 = ) =37.95+5 =
5 —920470 = 5 = 19 —491.6 =5 =
35) 3790 = 5 = 50 —1029.5 =5 =
56 —12070 = 5 = 5 —136.7 =5 =
51 —29260 = 5 = 2 —5990 + 5 =
) —1436.5+5 = ) —46260 =+ 5 =
399 —850 = 5 = ) —104.65 =5 =
10 —9895 =5 = %) 4975 +5 =

1 3100 = 5 = 0 —1717+5 =
12) —09290) = § = 57 —4559 + 5 =
13) —39155 = 5 = %) —200.85 -5 =
) —1141 =5 = 59 —11595 =5 =
15) —T7805 = 5 = 60 —360.35 =5 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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